4

34.60

| | 1
REVISION HISTORY PARTS LIST
REV DESCRIPTION DATE DESIGNER ITEM|QTY PART NUMBER DESCRIPTION REV

0 2020 REDESIGN 6/17/2021 Salvatore Aiello 1 1 |AD-TBL-HI02-ASM-002 Table Top Assembly 0
2 2 |AD-TBL-HI-ASM-004 Leg Assembly 0

3 | 16 |PUR-COMP-0080/81/89 2 1/2 in Threaded Wafer Bolt 0

- 71.63 4 4 |AD-TBL-HI02-012 Brace 0

‘ 5 4 |HDW-NSRT-3/4FLG-ZNC 3/4" Insert - Flanged - 1/4-20 0

6 4 |PUR-COMP-0036 2 in Threaded Wafer Bolt |PUR-COMP-0036 2 in Threaded Wafer Bolt |0

7 8 |HDW-BOLT-1/4-20X1.50 1/4 x 20 JCB x 1.50" Wafer Head Bolt 0

8 2 |AD-TBL-HI-ASM-003 Seat Assembly 0

69.48

L[] [ ]

o of

2.47»‘ c\::
.
- 17 .

!

30.11

"'_‘:=uj‘
AN

48.73 —

highwood

87 Tide Road
Tamaqua, PA 18252

TOLERANCES UNLESS
OTHERWISE NOTED

THE CONTENTS OF THIS DRAWING ARE PROPERTY OF
HIGHWOOD USA LLC. INFORMATION CONTAINED IS
PROPRIETARY AND MAY NOT BE REPRODUCED WITHOUT PERMISSION.

LINEAR: X.XX +0.032"
X XXX £0.015"
FRACTIONS: +1/16"

AD-TBL-HIO2

Hometown Picnic Table Overall Assembly

DIMENSIONS ARE IN INCHES

DRAWN BY: Salvatore Aiello DATE: 6/17/2021

DO NOT SCALE DRAWING

PN: AD-TBL-HI02-ASM-001 SHEET 1 OF 1 |REV: O

1



4 | 3 ¥ | 1
REVISION HISTORY PARTS LIST
REV DESCRIPTION DATE DESIGNER ITEM|QTY PART NUMBER DESCRIPTION REV
0 2020 REDESIGN 6/17/2021 | Salvatore Aiello
1 | 2 |AD-TBL-HI02-001 Table Top End Slat 0
71.63 _ 2 2 |AD-TBL-HI02-002 Table Top Mid Slat 0
' ‘ 3 | 2 |AD-TBL-HI102-015 Umbrella Hole Slat 0
y 35.81 | 4 | 2 |AD-TBL-HI02-013 Table Top End Slat Support |0
5 2 |AD-TBL-HI02-005 Table Top Mid Slat Support 0
1795 . . . . 6 2 |AD-TBL-HI02-003 Table Top End Support 0
i 7 | 2 |AD-TBL-HI02-004 Table Top Rail 0
R §;§%KE§D EDGES 8 | 68 |HDW-SCRW-07X2.00 #7 x 2" Trim Head Torx 0
TopspEonLy | S+60 9 | 8 |PUR-COMP-0087 2.5 IN LAG SCREW 0
10 | 8 |HDW-NSRT-1/2FLG-ZNC 1/2" Insert - Flanged - 1/4-20 |0
11 | 1 |PUR-COMP-0119 UMBRELLA GROMMET 0
R1/8" RADIUS
TOP SIDE ONLY
ALL AROUND
. — — . [ e o | 11 - - 11 |
- [ [ ) [ ] °
N2 « o/

hwood

NATURE'S CLOSEST RIVAL

hig

87 Tide Road
~13.93 6.73 Tamaqua, PA 18252
1 . 43 TYP " THE CONTENTS OF THIS DRAWING ARE PROPERTY OF
HIGHWOOD USA LLC. INFORMATION CONTAINED IS
TYP TOLERANCES UNLESS PROPRIETARY AND MAY NOT BE REPRODUCED WITHOUT PERMISSION.
OTHERWISE NOTED 2
LINEAR: X.XX +0.032" AD-TBL-HIO
X.XXX £0.015" Table Top Assembly
FRACTIONS: +1/16 DRAWN BY: Salvatore Aiello DATE: 6/17/2021
DIMENSIONS ARE IN INCHES
DO NOT SCALE DRAWING PN: AD-TBL-HI02-ASM-002 SHEET 1 OF 1 |REV: O
4 I i} I 1




4 | 2 | 1
REVISION HISTORY PARTS LIST
REV DESCRIPTION DATE DESIGNER ITEM|QTY PART NUMBER DESCRIPTION REV
0 2020 REDESING 6/17/2021 Salvatore Aiello 1 2 |AD-TBL-HI02-007 Seat Slat 0
2 2 |AD-TBL-HI02-006 Seat End Support 0
3 2 |AD-TBL-HI02-009 Seat Slat Support 0
4 2 |AD-TBL-HI02-008 Seat Rail 0
5 2 |AD-TBL-HI02-014 Seat Slat End Support 0
6 | 40 |HDW-SCRW-07X2.00 #7 x 2" Trim Head Torx 0
11.23 7 | 4 |HDW-NSRT-3/4FLG-ZNC 3/4" Insert - Flanged - 1/4-20 |0
B
/
.63
‘ — — — R 5" ROUTED EDGES
} BOTH ENDS
. TOP SIDE ONLY

694> [*+—1563—= ~—1330—= ~—15.63—
TYP.
s 1 1
. | . . |
Y Y
\ + 1 ol . | . I

highwood

. 1 . 83 NATURE'S CLOSEST RIVAL
TYP. TYP. TYP. 87 Tide Road
Tamaqua, PA 18252
THE CONTENTS OF THIS DRAWING ARE PROPERTY OF
HIGHWOOD USA LLC. INFORMATION CONTAINED IS
TOLERANCES UNLESS PROPRIETARY AND MAY NOT BE REPRODUCED WITHOUT PERMISSION.
OTHERWISE NOTED
LINEAR: X.XX +0.032" AD-TBL-HIO2
X.XXX £0.015" Seat Assembly
FRACTIONS: +1/16 DRAWN BY: Salvatore Aiello DATE: 6/17/2021
DIMENSIONS ARE IN INCHES
DO NOT SCALE DRAWING PN: AD-TBL-HI-ASM-003 SHEET 1 OF 1 |REV: O
4 I 2 I 1



4

| 1

REVISION HISTORY

REV

DESCRIPTION

DATE

DESIGNER

2020 REDESIGN

6/17/2021

Salvatore Aiello

60.97

3.58

PARTS LIST

ITEM

QTY

PART NUMBER DESCRIPTION

REV

AD-TBL-HI02-010 Leg

AD-TBL-HI02-011 Seat Support

HDW-NSRT-3/4FLG-ZNC |3/4" Insert - Flanged - 1/4-20

PUR-COMP-0080/81/89 |2 1/2 in Threaded Wafer Bolt

TVfhjWIN

=IRN[CO|—]|N

O|0|0|O0O|O

PUR-COMP-0022 Highwood Badge

87 Tide Road
Tamaqua, PA 18252

highwood

NATURE'S CLOSEST RIVAL

TOLERANCES UNLESS

THE CONTENTS OF THIS DRAWING ARE PROPERTY OF
HIGHWOOD USA LLC. INFORMATION CONTAINED IS
PROPRIETARY AND MAY NOT BE REPRODUCED WITHOUT PERMISSION.

OTHERWISE NOTED

LINEAR: X.XX +0.032"
X XXX £0.015"

AD-TBL-HI02
Leg Assembly

FRACTIONS: +1/16"
DIMENSIONS ARE IN INCHES

DRAWN BY: Salvatore Aiello DATE: 6/17/2021

DO NOT SCALE DRAWING PN: AD-TBL-HI-ASM-004

SHEET 1 OF 1 |REV: O

| 1




